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WOfE:10A
Eh
R E . 10 20 30 50 01 | o2 0.3 0.4 05 0.6 07
L/min(ntp) kPa MPa
2-20 BA01 | BBO1 | BCo1 | BDO1
25 - 25 BA02 | BB02 | BCO2 | BDO2 | BEO1 | BFO1
3-230 BA03 | BB03 | BCO3 | BDO3 | BEO2 | BF02 [ BGO1
4 - 40 BA04 | BB04 | BCo4 | BD04 | BE03 | BF03 | BGo2 | BHO1 | BJO1 | BKO1
5 - 50 BA05 | BB05 | BCos | BDO5 | BE04 | BFo4 [ BGo3 | BHo2 | BJ02 | Bko2 | BLOT | BMOI
6 - 60 BA06 | BBO6 | BCos | BDO6 | BEO5 | BFO5 | BGo4 | BHO3 | BJ03 | Bk03 | BLO2 | BMO2
8 - 80 BA07 | BBO7 | BCO7 | BDO7 | BEO6 | BFO6 | BGO5 | BHO4 | BJ04 | Bko4 | BLO3 [ BMO3
10 - 100 BA08 | BB08 | BCos | BD08 | BEO7 | BF07 | BGo6 | BHO5 | BJ05 | Bko5 | BLO4 | BMO04
12 - 120 BA09 | BB09 | BCo9 | BD09 | BEO8 | BFos | BGo7 | BHO6 | BJOs | Bkos | BLO5 | BMO5
15 — 150 BA10 | BB10 | BC10 | BD10 | BE09 | BF09 | BGos | BHO7 | BJO7 | Bko7 | BLO6 | BMO6
20 - 200 BA11 [ BB11 | BC11 | BD11 | BE10 | BF10 [ BGog | BHO8 | BJ0s | Bkos | BLO7 [ BMO7
25 — 250 BE11 | BF11 | BG10 | BHO9 [ BJ09 [ Bko9 | BLO8 | BMO8
30 - 300 BG11 | BH10 | BJ10 | BK10 | BLO9 | BMO9
40 - 400 BH11 | BJ11 | BKi1 [ BL10 | BMIO
50 - 500 BL11 | BMI1
WOE:15A
5
B Ea tatm 10 20 [ 30 50 01 [ o2 03 04 05 06 07
L/min(ntp) kPa MPa
4-40 CAOT
5 - 50 ca02 | cBoi [ ccot | cpot | cEo1
6 - 60 cA03 | cBo2 | cco2 | cpo2 | ceo2 | cFoi
8 - 80 cA04 | cBo3 | cco3 | cpo3 | ceod | cFo2 | cGgot [ cHot
10 - 100 CA05 | cBo4 | cco4 | cpo4 | ceos4 | cFo3 | cGo2 | cHo2 | cuor [ cKot
12 - 120 cAa06 | cBo5 | ccos | cpos | ceos | cro4 | cGos | cHo3 | cJo2 | cko2 | cLot [ cmor
15 — 150 cAo7 | cBos | ccoe | cpos | ceoe | cFos | cgo4 | cHoa | cuo3 | cko3 | cLo2 | cmo2
20 - 200 cao8 | cBo7 | cco7 | cpo7 | ceo7 | cFos | cGos | cHos | cuo4 | cko4 | cLos | cmo3
25 - 250 cA09 | cBog | ccos | cpos | ceos | cFo7 | cgos | cHoe | cuos [ ckos | cLo4 | cmo4
30 - 300 cA10 | cBo9 | ccoo | cpos | ceo9 | cros | cGo7 | cHo7 | cJos | ckoe | cLos | cmos
40 — 400 cat11 | cB1o | ccio | cp1o | ceto | cro9 | cgos | cHos | cuo7 | cko7 | cLos | cmoe
50 - 500 cc11 | cpit1 | ce11 | cF1o | caog | cHoo | cuos | ckos | cLo7 | cmo7
60 - 600 cFi1 | cG1o | cHio [ cJo9 | ckoo [ cLog | cmos
80 - 800 cGit1 | cHi1 | cuto | ckio | cLo9 | cmo9
100 — 1000 cJit | ckit | cLio | cmio
120 - 1200 cLit | cmit




W O#%:20A

EAH
B Enp {atm 10 20 [ 30 50 01 [ o2 03 04 05 06 07
L/min(ntp) kPa MPa
8 - 80 DAO1
10 - 100 DA02 | pBO1 | DCoi1 | DDO1
12 - 120 DA03 | DBO2 | DCo2 | ppo2 | DEO1 | DFo1
15 - 150 DA04 | DB03 | Dco3 | ppo3 | DE02 | DFo2 | DGo1 | DHot
20 - 200 DA05 | DB04 | Dco4 | DDo4 | DE03 | DF03 [ DGo2 | DHo2 | DJo1 | DKot
25 — 250 DA06 | DBO5 | DCo5 | DDo5 | DE04 | DFo4 | DGo3 | DHO3 | Duo2 | Dko2 | DLo1 | Dmot
30 - 300 DA07 | pBo6 | Dcos | Dpoe | DE0s | DFo5 | DGo4 | DHo4 | DJo3 | Dko3 | pLo2 | Dmo2
40 - 400 DA08 | DB07 | Dco7 | ppo7 | DEOs | DFo6 | DGos | DHos | DJo4 | Dko4 | pLO3 | Dmo3
50 - 500 DA09 | DBo8 | Dcos | DDos | DE07 | DF07 [ DGoe | DHos | DJos | Dkos | DL04 [ Dmo4
60 — 600 DA10 | DB09 | DCo9 | ppo9 | DE0s | DFo8 | DGo7 | DHO7 | Duoe | Dkos | DLO5 | DMo05
80 - 800 DA11 | pB10 | pc1o | ppbio | DEo9 | DFo9 | pGos | DHos | DJo7 | Dko7 | DLO6 | Dmoe
100 — 1000 pci1 | pbit | DE10 | DF10 | DGog | DHo9 | DJos | Dkos | DLO7 | Dmo7
120 - 1200 DET1 | DF11 | DG10 [ DH10 | DJ0o9 | DKo9 | DLO8 | DMO8
150 — 1500 DG11 | DH11 [ bJyto | Dkio | DLO9 | DMO09
200 - 2000 pJi1 | DKi1 | pLio [ pmio
250 - 2500 DL11 | DMI11
W OfE:25A
EAh
= HE tatm 10 20 30 50 01 | 02 0.3 0.4 0.5 0.6 0.7
L/min(ntp) kPa MPa
15 - 150 EAO1 | EBO1 | ECO1
20 - 200 EA02 | EB02 | Eco2 [ EDO1 | EEO1 | EFO1
25 — 250 EA03 | EB03 | EC03 | EDO2 | EE02 | EF02 | EGOT
30 - 300 EA04 | EB04 | Eco4 | ED03 | EE03 | EF03 | EG02 | EHO1 | EJo1
40 - 400 EA05 | EB05 | Eco5 | ED04 | EE04 | EF04 | EGO3 | EHO2 | EJo2 | Eko1 | ELo1 [ EMoOT
50 - 500 EA06 | EB06 | ECo6 | EDO5 | EE05 | EF05 | EGo4 | EHO3 | EJ03 | EKo2 | EL02 | EMO2
60 — 600 EA07 | EB07 | ECo7 | EDO6 | EE06 | EF06 | EGO5 | EHo4 | EJo4 | EK03 | ELO3 | EMO3
80 - 800 Eaos | EB08 | Ecos | ED07 | EE07 | EF07 | EGO6 | EHO5 | EJo5 | Eko4 | EL04 | EMo4
100 — 1000 EA09 | EB09 | Eco9 | ED08 | EE08 | EF08 | EGO7 | EHO6 | EJo6 | Ekos | EL05 | EMOS
120 - 1200 EA10 | EB10 | EC10 | EDO9 | EE09 | EF09 | EGO8 | EHO7 [ EJ07 | EKo6 | EL06 | EMO6
150 - 1500 EAt1 | EB11 | Ec11 | ED10 [ EE10 | EF10 | EGO9 | EHos | EJos | EK07 | ELO7 | EMO7
200 - 2000 EE11 | EF11 | EG1o | EHo9 [ EJo9 | Ekos | EL08 | EMos
250 - 2500 EGI1 | EH10 | EJ10 | Ek09 | ELO9 | Emo09
300 - 3000 EH11 | EJ11 | EK10 [ EL10 | EM10O
400 — 4000 EK11 [ EL11 | EM11
EWOE:32A
EAN
bk <8 el \atrm 10 20 30 50 01 | o2 0.3 0.4 0.5 0.6 0.7
m/h(ntp) kPa MPa
15-15 FAO1 [ FBO1 | FCoO1
2-20 FA02 | FB02 | Fco2 | FDO1 | FEO1 | FFO1
25 - 25 FA03 | FB03 | Fco3 | FD02 | FEO2 | FF02 | FGo1
3-230 FA04 | FB04 | Fcos4 | FD03 | FEO3 [ FF03 | FG02 | FHo1 | Fuor
4 - 40 FA05 | FB05 | Fcos | FDo4 | FE04 | FFo4 | FGo3 | FHO2 | Fuo2 [ Fko1 | FLO1 | FMo1
5 - 50 FA06 | FBo6 | Fcoe | FDos | FEos | FFos | FGo4 | FHO3 | Fuo3 | Fko2 | FLo2 | Fmo2
6 - 60 FA07 | FBo7 | Fco7 | FDoe | FEOs | FFoe | FGos | FHo4 | Fuo4 | Fko3 | FLO3 | Fmo3
8 - 80 FA08 | FBog8 | Fcos | FDo7 | FEO7 [ FF07 | FGoe | FHO5 | Fuo5 | Fko4 [ FLo4 | Fmo4
10 - 100 FA09 | FBO9 | Fcoo | FDo8 | FE08 | FFo8 | FGo7 | FHoe | Fuoe | Fkos [ FLos | Fmos
12 - 120 FA10 | FB10 | Fc1o | FDo9 | FE09 | FFo9 | FGos | FHo7 | Fuo7 | Fkoe | FLoe | Fmoe
15 — 150 FA11 | FB11 | Fc11 | FD10 | FE10 | FF10 | FGo9 | FHos | Fuos | Fko7 [ FLO7 | Fmo7
20 - 200 FE11 | FF11 | FG1o | FHo9 [ Fuo9 | Fkos | FLos | Fmos8
25 — 250 FG11 | FH10 | FJ10 | Fko9 [ FLO9 | FMO09
30 - 300 FH11 | FJ11 [ Fki0 | FL10 | Fm10
40 — 400 FK11 | FL11 [ FMm11




W O#%:40A

EAH
B Enp {atm 10 20 [ 30 50 01 [ o2 03 04 05 06 07
m/h(ntp) kPa MPa
2-20 GAOT
25-25 GA02 | GBO1 | Gcot | apo1 | GEo1
3-230 GA03 | GB02 | Gco2 | apo2 | Geo2 | GFo1
4-40 GA04 | GB03 | Gco3 | apo3 | GeEo3 | GFo2 | GGot1 | GHof
5 - 50 GAO5 | GB04 | Gco4 | Gpo4 | GEo4 | GFo3 | GGo2 | GHO2 | Guo1 [ GKot
6 - 60 GA06 | GB05 | Gcos | apos | GEos | GFo4 | GGo3 | GHO3 | GJo2 | Gko2 | GLo1 [ GMo1
8 - 80 GA07 | GBo6 | Gcoe | Gpos | GEoe | GFos | GGo4 | GHo4 | Guo3 | Gko3 | GLo2 | Gmo2
10 - 100 GAo8 | GBo7 | Gco7 | apo7 | Geo7 | GFos | GGos | GHO5 | Guo4 | Gko4 | GLo3 | Gmo3
12 - 120 GA09 | GB08 | Gcos | Gpos | GEos | GFo7 | GGoe | GHO6 | GJos | Gkos | GLo4 | GMo4
15— 150 GA10 | GB09 | Gcog | GDo9 [ GEO9 | GFo8 | GGO7 [ GHO7 | GJoe | GKoé | GLO5 | GMOS5
20 - 200 GA11 | GB10 | Gc1o | ap1o | GE1o0 | GFo9 | GGos | GHos | Guo7 | Gko7 | GLos | GMoe
25 - 250 GC11 | Gb11 | GE11 | GF10 | GGog | GHo9 | Guos | Gkos | GLo7 | Gmo7
30 - 300 GF11 | GG10 | GH10 | GJo9 | Gko9 | GLo8 | Gmo8
40 — 400 GG11 [ GH11 | GJ10 | Gk1o0 | GLO9 | GMO9
50 - 500 GJ11 | Gk11 | aLio [ amio
60 - 600 GL11 | GM11
W O%:50A
EH
= HE {atm 10 20 30 50 01 | 02 0.3 0.4 0.5 0.6 0.7
m/h(ntp) kPa MPa
3-230 HAO1
4-40 HA02 | HBO1 | HCO1 | HDO1 | HEO1
5 - 50 HA03 | HB02 | HCO2 | HDO2 [ HEO2 | HFO1
6 - 60 HA04 | HBO3 | HCO03 | HD03 | HE03 | HF02 | HGo1 | HHo1
8 - 80 HA05 | HB04 | HCO04 | HD04 | HE04 | HF03 [ HGo2 | HHO2 | HJO1 | HKO1 | HLOT
10 - 100 HA06 | HBO5 | HCO5 | HDO5 | HE05 | HF04 [ HGO3 | HHO3 | HJ02 | HK02 | HLO2 [ HMmO1
12 - 120 HA07 | HBO6 | HCo6 | HDO6 | HEO6 | HFO5 | HGO4 | HHO4 | HU03 | HK03 | HLO3 | HMO02
15 — 150 HA08 | HBO7 | HCO7 | HDO7 | HEO7 | HFo6 | HGO5 | HHO5 | HJ04 | Hko4 | HLo4 | HMmO03
20 - 200 HA09 | HBO8 | HCo8 | HDo8 | HE08 | HF07 | HGo6 | HHO6 | HJO5 | Hk05 | HLO5 [ HMmO04
25 - 250 HA10 | HBO9 | HCO9 | HD09 | HE09 | HFo8 [ HGO7 | HHO7 | HJ06 | Hko6 | HLO6 [ HMO5
30 - 300 HA11 | HB10 | HC10 | HD10 | HE10 | HF09 | HGO8 | HHO8 | HJ07 | Hk07 | HLO7 | HMO6
40 — 400 HC11 | HD11 | HE11 | HF10 | HGo9 | HHo9 [ HJog | Hkos | HLog | HMmO7
50 - 500 HF11 | HG10 | HH10 | HJ09 | Hko9 [ HLO9 | HMO8
60 - 600 HG11 | HH11 | HJ10 | HK10 [ HL10 | HMO9
80 — 800 HJ11 [ HK11 | HL11 | HM10
100 — 1000 HM1 1
W O7E:65A
EH
R E . 10 20 30 50 01 | o2 0.3 0.4 05 0.6 0.7
m/h(ntp) kPa MPa
6 - 60 Jaot | uBot1 | Jcor [ Jpot | JEOT
8 - 80 JA02 | JBo2 | Jco2 | Jpo2 | JE02 | UFo1
10 - 100 JA03 | uB03 | Jco3 [ Jpo3 | JE03 | JUF02 | JGo1
12 - 120 JA04 | JB04 | Jco4 | upboa | JE04 | UF03 | JGgo2 | uHot1 | JJoi
15 — 150 JA05 | JBo5 | Jcos | Jpos | JE05 | UFo4 | ugo3 | uHo2 | ugo2 | ukor | uLo1 | umor
20 - 200 JA06 | JBo6 | Jcoe | Jpos | JEO6 | JF05 | ugo4 | JHO3 | Juo3 | uko2 | JLo2 | Jmo2
25 - 250 JA07 | uBo7 | Jco7 | Jpo7 | JE07 | JUFoe | JGos | JHO4 [ Juo4 | Uko3 | JLo3 | Jmo3
30 - 300 JA08 | uB08 | Jcog [ Jpog | JEO8 | JF07 | JGos | JHO5 [ JJos | UKo4 | JLo4 [ Jmo4
40 — 400 JA09 | uB09 | Jcog | Jpo9 | UE09 | UFos | ugo7 | JHoe | Juoe | ukos | JLos | Jmos
50 - 500 JA10 | uB10 | Jcto | Jbt1o | UET0 | UF09 | ugos | JHO7 | Juo7 | Ukoe | JLoe | Jmo6
60 - 600 JAT1 | uB11 | Jcit [ Jbt11 | UE1T | UF10 | ugo9 | JHog [ Juos | uko7 [ JLo7 | Jmo7
80 - 800 JF11 | JG10 [ JHo9 | Jyo9 | JUkog [ JLog | Jmos8
100 — 1000 JG11 [ JH10 | Juto | Jkoo | JLos | Jmo9
120 — 1200 JH11 | Jutt | uk1o [ JLio | Jmio
150 — 1500 JK11 | JLtt | Jmid




W O#%:80A

EAH
B Enp {atm 10 | 20 | 30 50 01 [ o2 03 04 05 06 07
m/h(ntp) kPa MPa
8 - 80 KAo1 | kBO1 | Kcoi [ KDoOT
10 - 100 KA02 | KB02 | KCo2 | kD02 [ KEOT
12 - 120 Ka03 | kB03 | Kco3 | kpo3 | kE02 | KFo1
15 - 150 KAo4 | kB04 | Kco4 | kpo4 | kE03 | KF02 | KGO1 | KHO1
20 - 200 KA05 | kB05 | Kco5 | kD05 | KE04 | KFO3 | KGO2 | KHO2 | KJo1 | Kko1 | KLOT
25 — 250 KA06 | KB06 | KCo6 | kD06 | KEO5 | KF04 | KGO3 | kHO3 | KJo2 | Kk02 | KLO2 | KMO1
30 - 300 KA07 | kB07 | Kco7 | kpo7 | kEoe | kFos | kGo4 | kHo4 | KJo3 | kko3 | KkL03 | Kmo2
40 - 400 kAo | kB0o8 | Kcos | kpos | kE07 | KkFoe | kGo5 | KHO5 | KJo4 | kko4 | KLo4 | KmO3
50 - 500 KA09 | kB09 | Kco9 | kDo9 | kEo8 | KFo7 | KGO6 | KHO6 | KJo5 | kK05 | KLo5 | KMO4
60 — 600 KA10 | KB10 | KC10 | kD10 [ KEO9 | KFO8 | KGO7 | KHO7 | KJo6 | KKO6 | KLO6 | KMOS
80 - 800 Kat1 | kB11 | kci1 | kb1t | kEto | kFo9 | kGos | kHos | kJo7 | kko7 | KkLo7 | KMo
100 — 1000 KE11l | kF10 | KGo9 | kHO9 | kJog | Kkog | KLog8 | Kmo7
120 - 1200 KF11 | KG10 | KH10 | KJo9 | Kko9 [ KLo9 | Kmo8
150 — 1500 KG11 | KH11 | KJ10 [ KK10 | KL10 | KMO9
200 - 2000 Kki1 | kL1t [ kw10
WO :100A
Eh
R E . 10 20 30 50 01 | o2 0.3 0.4 05 0.6 0.7
m/h(ntp) kPa MPa
12 - 120 LAO1
15 - 150 LA02 | LBo1 | Lcor | Lpboti | LEo1
20 - 200 LA03 | LB02 | Lco2 | Lpbo2 | LEO2 [ LFo1
25 — 250 LA04 | 1B03 | Lco3 | Lpo3 | LE03 | LFo2 | LGo1 | LHO1
30 - 300 LA05 | LBo4 | Lcos4 | Lpo4 | LE04 | LFo3 | LGo2 | LHO2 | Luo1 | LKof
40 - 400 LA06 | LBo5 | Lcos | Lpos | LEos | LFo4 | LGo3 | LHO3 | Luo2 | Lko2 | LLo1 | Lmot
50 - 500 LA07 | LBo6 | Lcoe | Lpos | LEO6 [ LFo5 | LGo4 [ LHo4 | Luo3 | Lko3 [ LLo2 | Lmo2
60 — 600 LAog8 | 1Bo7 | Lco7 | Lpo7 | LEo7 | LFos | LGos | LHO5 | Luo4 | Lko4 | Lio3 | Lmo3
80 - 800 LA09 | LBog8 | Lcos | Lpos | LEos | LFo7 | LGoe | LHo6 | LJos | Lkos | LLo4 | Lmo4
100 - 1000 LA10 | LB0o9 | Lco9 | Lpog | LEo9 | LFos | LGo7 [ LHO7 | Luoe | Lkoe | LLos | Lmos
120 - 1200 LA11 | 1B10 [ Lc1o | 1b1o | LE10 [ LFo9 | LGos [ LHos | Luo7 | Lko7 | LLoeé | Lmoe
150 — 1500 Lc11 [ b1t | LE1r | LF10 | LGo9 | LHo9 | LJog | Lkos | LLo7 [ Lwmo7
200 - 2000 LF11 | taro | tH10 | LJgo9 | koo | LLog | Lmos
250 - 2500 LGi1 | LH11 | LJ1o | tkio | LLo9 | Lmog
300 - 3000 L1t [ ki1 | LLro | Lmio
400 — 4000 LM11
HWO#&:125A
EAN
bk <8 el \atrm 10 20 30 50 01 | o2 0.3 0.4 0.5 0.6 0.7
m/h(ntp) kPa MPa
20 - 200 MAO1 | MBo1 | MCo1
25 - 250 MA02 | MB02 [ mco2 | MDo1 | MEo1
30 - 300 MA03 | MB03 [ mco3 | Mpo2 | ME02 | MFo1
40 - 400 MA04 | MB04 | mco4 | mMDpo3 | ME03 [ MFo2 | MGo1 | MHo1
50 — 500 MA05 [ mMB05 | Mcos | MDo4 | ME04 | MFO3 | mGo2 | MHO2 | mJo1 | mkot1 [ MLo1
60 - 600 MA06 | MBo6 | mcos | MDpo5 | ME05 | MFo4 | mMGo3 | mHO3 | mJo2 | mko2 | mLo2 | mMMmo1
80 - 800 MA07 | MB07 | mco7 | mpoe | MEos | MFo5 | MGo4 [ mHo4 | mJo3 | Mko3 [ mLo3 | mmo2
100 — 1000 MA08 | MBo8 | mcos | mMpo7 | ME07 | MFo6 | MGo5 [ mMHO5 | mJo4 | MKko4 [ mLo4 | mmo3
120 - 1200 MA09 [ mB09 | mMco9 | mpos | mE08 | MFO7 | mMGoe | MHOe | MJos [ MKko5 | MLO5 | mMmo4
150 — 1500 MA10 | MB10 | mc10 | Mpo9 | ME09 | MFos | mMGo7 [ mHo7 | mJos | mkos | mLo6 | mmos
200 - 2000 MA11 | MB11 [ mc11 | mpio | ME10 | MFo9 | mGos [ mHo8 | mJo7 | Mko7 [ mLO7 | mMmo6
250 - 2500 MD11 | ME11 [ MF10 | MG09 | MHO9 [ mJuos | MKog | MLo8 | MMoO7
300 - 3000 MF11 | MG10 | MH10 [ MJ09 | MKo9 | mLO9 | MMO8
400 — 4000 MH11 | mJ10 | mkio | mL10 | MMo9
500 - 5000 MJ11 [ mMki1 | mL11 | Mm10
600 - 6000 MM 1




W Of%:150A

5
B Enp fatm 10 | 20 | 3 [ 50 01 [ 02 | o3 04 05 06 07
m/h(ntp) kPa MPa
30 - 300 NAo1 [ NBo1 | NCO1 | NDO1
40 — 400 NA02 | NBo2 | Nco2 | NDo2 | NEO1 | NFo1
50 - 500 NA03 | NB03 | Nco3 | NDo3 | NE02 | NFo2 [ NGoi
60 - 600 NA04 | NBo4 | Nco4 | NDo4 | NE03 | NFo3 | NGo2 | NHO1 [ NJO1
80 - 800 NA05 [ NB05 | NCos | NDo5 | NE04 | NFo4 [ NGo3 | NHO2 | NJo2 | Nko1 | NLOT [ NMo1
100 — 1000 NA06 | NBo6 | Ncos | NDoe | NEos | NFo5 | NGo4 | NHO3 [ NJo3 | Nko2 | NLo2 | Nmo2
120 — 1200 NA07 | NB07 | Nco7 | NDo7 | NEos | NFoe | NGos | NHo4 | NJo4 | Nko3 | NLo3 | Nmo03
150 — 1500 NA08 | NBog | Ncos | NDos | NE07 | NFo7 [ NGoe | NHO5 | NJo5 | Nko4 | NLo4 [ Nmo4
200 - 2000 NA09 [ NBo9 | Nco9 | NDo9 | NE0s | NFos [ NGo7 | NHo6 | NJo6 | Nkos | NLO5 [ Nmo5
250 — 2500 NA10 | NB10 | Nc1o [ ND1o | NE09 | NFo9 | NGos | NHo7 [ NJo7 | Nkos | NLoe | Nmoe
300 - 3000 NA11 | NB11 | Nc11 [ ND11 | NE10 | NF10 | NGoo9 | NHos [ NJog | Nko7 | NLO7 | Nwmo7
400 - 4000 NETT | NF11 | NG10 | NHO9 | NJo9 | Nkos | NLog | NMo8
500 - 5000 NG11 | NH10 [ NJ10 | NKko9 [ NLO9 | NMo9
600 — 6000 NH11 [ NJ11 | NKio [ NL10 | NM10
800 - 8000 NK11 | NL11 | NM1T
W O 7% :200A
Eh
R E . 10 20 30 50 o1 [ o2 | o3 0.4 05 0.6 07
m/min(ntp) kPa MPa
08-8 PAO1
1-10 PA02 | PBO1 | Pcot | Ppo1 | PEO1
1.2-12 PA03 | PBO2 | PCo2 | PD02 | PE02 | PFOT
15-15 PA04 | PB03 | Pco3 | Ppo3 | PE03 | PFo2 | PGo1 | PHot
2-20 PA05 | PB04 | Pco4 | Ppo4 | PE04 | PFo3 | PGo2 | PHO2 | PJo1 | PKkot1 | PLOT
25 - 25 PA06 | PBO5 | Pcos | Ppos | PE0s | PFo4 [ PGo3 | PHO3 | Puo2 | Pko2 | PLO2 | PMmo1
3-230 PA07 | PBO6 | Pcos | Ppo6 | PEO6 | PFO5 [ PGo4 | PHO4 | PJ03 | Pko3 | PLO3 [ PmO02
4-40 PA08 | PB07 | Pco7 | Ppo7 | PE07 | PFo6 | PGos | PHos [ PJo4 | Pko4 | PLO4 | Pmo03
5 - 50 PA09 | PBo8 | Pcos | Ppos | PEos | PFo7 | PGoe | PHOs | PJos | Pkos | PLO5 | Pmo4
6 - 60 PA10 | PB09 | Pco9 | Ppo9 | PE09 | PFos | PGo7 | PHO7 | PJos | Pkos | PLO6 | PmO5
8 - 80 PA11 [ PB10 | Pc10 | PD10 | PE10 | PFo9 [ PGos | PHO8 | PJo7 | Pko7 | PLO7 [ PMmO6
10 - 100 pci1 | P11 | PE11 [ PF10 | PGo9 | PHo9 | PJos | Pkos | PLO8 | Pmo7
12 - 120 PF11 | PG10 | PH10 | PJo9 | Pko9 [ PLo9 | PMmo8
15 — 150 PG11 | PH11 | PJ10 | PKio | PL10 | PMO9
20 - 200 PJ11 | PKi1 [ PL11 | PMIO
25 - 250 PM11
W O 7% :250A
5
Pkt il . 10 20 [ 30 | 50 01 [ o2 | o3 04 05 06 07
m/min(ntp) kPa MPa
12-12 QAOT
15-15 Qa02 | aBot1 | qcot | apot | QEo1
2-20 QA03 | aB02 | Qco2 | apo2 | Qo2 | QFo1 | QgGot
25-25 QA04 | GB03 | Qco3 | apo3 [ Qo3 | QFo2 | @Go2 | QHof
3-30 QA05 | QB04 [ Qco4 | apo4 | Qo4 | QFo3 | QGo3 | QHo2 | QJdoi [ akot | QLot
4-40 Qa06 | aB05 | Qcos | apos | qeos | QFo4 | Qcos | QHo3 | QJo2 | ako2 | aLo2 | amor
5 - 50 QA07 | aBo6 | Qcoe | apos | qEoe | QFos | @Gos | QHo4 | Quo3 | ako3 | QLo3 [ amo2
6 - 60 QA08 | QB07 | Qco7 | apo7 | qeo7 | QFos | QGos | QHO5 | Quo4 [ ako4 | QLo4 [ amo3
8- 80 QA09 | aB08 | Qcos | qpos [ Qeos | QFo7 | QGo7 | QHO6 | QJos [ akos | QLos | Qmo4
10 - 100 QA10 | aB09 | Qcog | apos | Qo9 | Qros | @cos | QHo7 | Quoe | akoe | aLos | amos
12 - 120 QA11 | aB10 | Qc1o | ap1o | Q10 | QFo9 | @Go9 | qHos | Quo7 [ ako7 | aLo7 | amos
15 - 150 Qcii | ap11 [ Q1 | QF10 | @G1o | QHo9 | QJos | akos | QLos | amo7
20 - 200 QF11 [ QG11 | QH10 | QJog [ QKo9 | QLo9 [ Qmos
25 - 250 QH11 | QJ1o | akio | aLio [ amo9
30 - 300 QJi1 | aki1 | aLi1 | amio
40 - 400 QM11




